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QUESTION 1

How many ESM event schema groups are there?
A.5

B. 17

C. 300

D. 400

Correct Answer: B

QUESTION 2

Which component performs event aggregation?
A. ESM Database

B. ESM Manager

C. CORR-Engine

D. Smart Connectors

Correct Answer: D

QUESTION 3

What is IAM an acronym for?

A. Intrusion and Access Management
B. Identity and Access Management
C. Incident Account Management

D. Identity Account Management

Correct Answer: B

QUESTION 4
Which statement describes a CIP?
A. A collection of packages to interface ArcSight products with ticket management systems

B. A suite of ArcSight resources focusing on system performance issues
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C. A product that scales easily to manage extreme machine data across IT
D. A collection of ArcSight resources to monitor IT assets, based on regulatory requirements

Correct Answer: D

QUESTION 5

Which statement is correct?

A. Smart Connectors cannot execute commands.

B. Smart Connect or installers are operating system independent

C. Smart Connectors use the Event Category Model to describe normalized events
D. Smart Connectors correlate events from raw data.

Correct Answer: C
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